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4.1 - Systems of Measurement

Day 2...
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TRY THIS ONE...
A 3-D puzzle of the Eiffel Tower has a scale of

2
1:360. In the puzzle, the tower is 353 in. tall.

What is the height of the Eiffel Tower in feet?

354 300= 126007 (o
Y %2_0
5
= (44"

12 400 + 144 =12 799"
2744 <12 = 1062

16. 1062 ft.

1.1 Imperial Measures of Length

Exercise #16
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Convert 3689 seconds to hours.

3689< X _,__vfusn x 1 he=[02 hy

éo min

Sep 11-10:59 AM
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Y b v 100 EM Y l__/h
[ ™ 2.9 ¢m
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Worksheet Examples

1. Convert to inches

6 feet 8_1 inches = {0~
2 2

2. Convert to Feet and inches

1 j = ll
69_2 inches S lpl i

—
=~

Sep 11-10:54 AM



4.1 - Systems of Measurement Day 2.notebook February 14, 2017

HOMEWORK...

« Page 150

Do questions: #1-5; 8

End of lesson



Attachments

Q Worksheet - Intro. to Imperial Measurement.docx
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